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Set Id : 62269_6 BATCH!1 D.ELEd. Odia 07TNOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):

Read the passage and answer the questions that follow:

Emma had gotten quite good at summarizing someone else’s life—but that hardly made a smudge
on the page of her own.

She hadn’t obtained a journalism degree in order to persuade the local department store to place
mattress sale ads in the Sunday paper, either. She was a reporter! A darn good one...if only
someone would give her a chance to prove herself. Emma longed to write a piece worthy of her
education and her skills, and frankly, preparing obituaries wasn't it.

“I don’t think | can do this much longer,” she confessed sadly. “Either Walt lets me write a real story
or...” She didn’t know what.
Phoebe gasped. “You aren’t thinking of quitting, are you?”

1) What had Emma gotten quite good at?

A) Going to the department store.

B) Writing advertisement.

C) Obtaining degrees.

D) Summarizing someone else's life.

2) What was Emma thinking of doing?

A) Going to the department store.
B) Quitting her job.

C) Writing a book.

D) Starting a newspaper.

3) What chance did Emma want?

A) To be a reporter.

B) To participate in a competition.
C) To be a department store owner.
D) To be independent.
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4) What degree had Emma obtained?

A) Management.
B) Journalism.
C) Teaching.

D) Hospitality.

5) According to the passage, what hadn't Emma longed for?

A) Running a department store.
B) Waiting to study.

C) Preparing obituaries.

D) Writing advertisements.

6) Fill in the blank with the correct option:

The birds over the chimney which had a big

A) flu, flue
B) flew, flu
C) flew, flue
D) flu, flew

7) “Call someone names” means

A) praise someone's name

B) calling someone's nickname loudly

C) insult someone

D) explain something to someone carefully

8) Fill in the blank with correct prefix or suffix:

During the epidemic a large no of medics were deployed to handle a large number of
patients.

A) para
B) super
C) pre
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D) post

9) Which of the following words is correctly spelt?

A) exonerate
B) exhonerate
C) ecksonerate
D) exonarrate

10) Which of the following idiomatic alternatives best suites the meaning being "Become famous"?

A) Make a name for yourself

B) Make a case for yourself

C) Make a lame excuse for yourself
D) Make a channel for yourself
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) The motion of a pendulum bob follows the motion of a simple harmonic oscillator. Which of the
following statements is INCORRECT regarding its motion?

A) Velocity and acceleration are always in the opposite direction

B) Velocity and displacement are in the same direction one half of the time
C) Acceleration and position vector are always in the opposite direction

D) Position vector and displacement are always in the same direction

11) 9@ cagne 99 @ 98 9@ JaR LIREAIRE BAEACER F8T 2QARd @6a | @ a6 Sea6a @9]@%1@ AR 696 QS § 9
A6CE ?

A) 6961 4@° QQdl AIG! UG GA6Q 12T

B) anaq 2l Io6a 696 9&° FRITR 99 QAR Y06R 2I2IE

C) qaa e 36 saqa adel Saaie Sasa 12T

D) g5 saqe e Ggiae asal aqie Ssa IS

12) Which of the following is not a power of the President of India?

A) Impose president's rule

B) summon and prorogue the sessions of both the Houses
C) power to grant pardons, respites, or remissions

D) return the money bill to the parliament

12) SRS FikIq sads aineia aigads TG FRIER 26T QIR 2

A) S99 50d fIg @<

B) aea g2a aSsear Q191 ve FTS a6l
C) aa1 se0@ see1, YINIGEQ AL Gau sel
D) aaeq 79I G exad @aa!

13) On-demand Education is a facility available with the -
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A) CBSE

B) NIOS

C) CICSE

D) State Boards

13) eRa-gae ds @ QR 86, I el afe auns 621NN -

A) daaga
B) 1R2IREIq
C) deieduea
D) I 691¢

14) In 1901, the conference of Directors of Public Instruction was convened by?

A) Lord Mountbatten
B) Lord Clive

C) Sir Hartog

D) Lord Curzon

14) e coecn, QIREQRCD 2T IGR ARLGRe ddne YRIF QIR 2ICAFG 6! -

A) a6 AIREVYIEER
B) ad QI0Q

C) aiq 216519

D) A¢ a5

15) To promote general and elementary education, the National Policy of Education (1986) was
responsible for the set up of

A) Vishwa Vidyalayas

B) Navjeevan Vidyalayas
C) Navodaya Vidyalayas
D) Nai Taleem Vidyalayas

15) ariieg ve YINAR daig 6giaide *aq! aie QURID Jal 216 (¢ ¢r) ¥Ia gaaR aIe QI
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A) FYEMRAER

B) 999196 AQUIRQCER
C) @6Qea QQIPASER
D) |2 SImf dUIRaceR
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) How many letters are there between 20th alphabet from the right and 9th alphabet from the right,
when letters are arranged as per the alphabetical order?

A) 10
B) 11
Gyrig
D) 13

16) sasesae ?:Jm%]_@@ Q4IRl SF6Q ARIAIN, FITIEQ 9005 @4 Y6 QIRIGQ 7 94 IR 6R6RIT 280 QTR ?

A) eo
B) ee
C) ey
D) e

17) In a certain code language, if the word ALONE is coded as 12345 and BASIC is coded as 61789,
then how will the word CLOSE be coded in that language?

A) 92475
B) 93415
C) 92375
D) 91238

17) 9e 88« a6 aisleq, 98 ALONE aa ¢ sy g 9o BASIC, seor ¢ aiesa sale. @Ql saiag, sose 68 auglsa CLOSE
806 § G08 caie QUL ?

A) c9%98
B) caises
C) ¢9mos
D) ce9ar
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18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.
2, if statement |l alone is sufficient to answer the problem.

3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What is the cost of 10 apples and 6 mangoes?
I. The cost of 5 apples and 3 mangoes is  80.

Il. An apple costs more than a mango.

A) 1
B) 2
C)3
D) 4

18) QYNYC 9g96esa 536 969 :
¢. 96 Q! | arcuie QAQ soalg a6 26T |

Q& QR Il ¥gdal anya QAR saelq Asaa 2I6S |
7. 96 @G | e |l aeaq 910 F2Ide 606 AR QAR 669 A UG S |

2@ Q4 | v Il ae9g a0 faIde o060 @ 2NN AR caal Al AT 6% |

€ oG 698 ¥e* 9C 2N MY 66 ?
l. 8¢ cas e S ana i ro |

II. 65 6a6a gy 2IR0IQ 28e 269 |

A) ¢
B) ¢
c)a
D)¥
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19) Ravi parkash walks 12 m from his office to reach the canteen. Then he turns left and walks 2 m.
Then he again turns left and walks straight for 12 m. How far is he from his office?

A)10m
B) 12m
C)8m
D)2m

19) a8 geid oIF ANIRAQ MIFRER ALER AW €9 Foa OIR a6 AR2AS | FI06R 6 AT A 9 Fea SINE | IU6R 62 Yd QG
R Gl 09 for SIRG | 69 GIF FITIFLOIQ 6866 LRER ASE ?

A) eo @.
B) e9 4.
C)ra.
D) 9 4.

20) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What is the average age of the two new students who joined the group ?
I. The average age of a group of 10 students, who were there previously was 100.

Il. The average age increased by 2 years when two new students joined the group.

A) 1
B) 2
C)3
D) 4

20) YIRS ggeease 836 @ag :
0. 98 QA4 | anayie QAR caeig Tsaa 2I6T |
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9. 2@ Q4! |l vgdzl anaia AR saelg K62a 2I6S |
0. 96 QG | ver |l eag 9910 FAHS 6060 AR AR 699! QI QUG 266 |

¥. 98 Q94 | e Il aeag 9eI0 S2189 6660 @ anAia QR caal Ale ATYG 6% |

QREQ 649 6QREQ Q@ YOR B LIQIVR 20 6REQ ?

I. o 24 818 & IR @R INVG 94 e oo, 6ALCIIER 60I6Q gag Z6M |

Il. 2@ 96% 218 9R6a 6AISEAS! U6a IR 94A 9 o 9F ClRR! |

A) ®°
B) ¢
c)m
D)¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) What is the percentage of seats which private schools have to reserve for students coming under
the RTE act?

A) 30%

B) 45%

C) 25%

D) 20%

21) ziega 2ufan adesa 2Igeel FMIENARS sl 6960 F09e! e A6 @@Hlmﬁl@@ T RN G ?

A) No %
B) ¥8 %
C)98 %
D) 90 %

22) A complex process by which learners are provided with a deliberately designed environment to

interact with, keeping in focus pre-designed objectives and bring about desirable change is referred
to as

A) instruction
B) learning
C) reading
D) training

22) dQ1dir1eg 99-06980 2s944q AIN6a oY Ne° Ierdo adecas AISQl JIR 92l ¥R 9880 afeae 0fed 126 6QIGIsIT AaS
QIg! 696 F6R YR NNTQ FRUAIRNAN, FIRIG Q|

A) feda
B) digel
C) a@el
D) elael
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23) What does DIET stand for?

A) Direct Institute of Education and Training
B) District Institute of Evaluation and Training
C) District Institute of Education and Training
D) District Internship of Education and Training

23) Gueed (DIET) ¢2¢d qigl 4990 £9°?

A) CIR60Q 9Q.94S &I NGERAR I8 65G°
B) 8 03.94< 2% ARIQUSIR 18 695°
C) 98Q 93,949 2% Ig6asq I8 655°
D) 8Q @841 <t 9geadaq 94 695°

24) Who strongly advocated that purpose of education is to let the individual grow in complete
harmony with nature without any sort of interference from society?

A) Dewey

B) Aristotle

C) Plato

D) Rousseau

24) arieq 63143 gRIa 92689 @ad EGcIag ged a8 Trgd AQH FLIRRIQ A9 628 JUIR AR, 12l QU6a @Y 99Q
camaen ?

A) 9

B) asaIcw

C) Qlsel

D) geall

25) Passive learning takes place in

A) Project method

B) Discovery method

C) Lecture method

D) Problem solving method
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25) g0 994 9@ gt caRaN

A) 999 88

B) uReIa a8

C) 29I 988

D) QA4 QeliIf 988G

26) Which of the following teachers is supporting children's hypothesis formation as a first step to
create concepts?

1. Teacher A gives his students a bucket of water along with some objects and asks them to identify
the objects that can float in water.

2. Teacher B gives his students several books and asks them to read the books and find out about
the concept of floating in water.

3 Teacher C asks his students to watch a movie in which some characters are living in floating
houses and asks them to describe floating concept.

4. Teacher D conducts a series of experiments to teach the concept of floating and then explains to
his students what floats and what sinks.

A) Teacher A
B) Teacher B
C) Teacher C
D) Teacher D

26) GONGe JARAINR° AIQ @ ARSI 9T QIR JaIF 996Rd NREA INNIFR R QUKERI J09q ey
@Qea ?

0. due @ QQYIIg 68 o2 A@e 98 ARG A1 §28 ver aificn caeag @8 AR 6agee F9F FEIg canIeg Qe8|
9. faR 0 6IF QUG 2sra gae G528 Y 6QAIRT 98 08IQ Ys° TISica RIdRIa Ao §906R FIERIG 928 |

q. §9e @ ole @Q"llej'lﬁ 49 oREe 69YS Tiel 28 60026R G2 08Q IAFIR F6Q FIA KOS IS° 6ATIRT NIATIF ANER F€IFI FERF
o8 |

¥. 399 @ QIR MRl FYRQ e 269e IRINE a8 U 6’06 eix QQYIZlg &’8 il Y @' QFaN eI9l 9EId |
A) 999 @

B) dea &
C) dee @
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D) dae @

27) Repetition, practice, rhythm, mnemonics are techniques used to enhance

A) memory
B) perception
C) attention
D) muscles

27) 9RQIQQ., zeua, ate, 96 ARIAR (Fsn1de) soad Q& aigl eiege salam |

A) 96
B) aGaugge @iIe-airely

C) de
D) erasas

28) Mita who is in class VIl is very good at cooking. When she was asked to describe how she made
chocolate donuts, she missed two steps. But when she made it in front of the class, she made tasty

donuts. What went wrong with her memory?
A)
B)
C)
D)

Her procedural memory did not translate into verbal memory.

Her episodic memory was faulty so she could not remember a few steps.

Her procedural memory was short term and her episodic memory was long term.
Her episodic memory was long term memory so she remembered how to do it.

28) a3d 6g4ea agaRl fisl @20 N CRICAR 908 | EACOEIER Gl 6Q AR FERIEAT 6RIRY F2IR F6q 6121 Q4RI FARIF LA,

6Q 9816 6KIUIR BIGs06R | @F 6K66696R 64 ILIG 6541 AIFJIER SAUR FEM, EACEETER 61 I8 681AG G2 F6M | BIFQ FIeradalsa
Q'8 Q@ 62 ?

A) oea Q80100 96 6TIge ¢Ese AgIR 6RRAM

B) cica vdcaide gb 9Fgd anl cog 6a 88 6QAIAIR e agaidsn oIF
C) oIFa gaaiee g6 @faId e 1deade g6 AR AR

D) clea 1deaiee go QERNMS Y8 ARl 604 6d YLIg UG FAES 012 F69 TFREM

29) The best method of teaching English language in India is the

A) Translation cum Grammar
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B) Direct Method
C) Indirect Method
D) Dr. West Method

29) QIAPEQ AR FA YUK 6§V ARGT @6l ?

A) 2gQIQ G2l YISE SiSl
B) geus a6

C) ageys aae

D) ¢. 6eq &G

30) Teacher enters the class and ensures a daily entry routine. Which of the following activities might
she be performing?

A) Preparing learning material, punishing a student, giving a test

Preparing learning material, punishing a student , giving home work

Preparing learning material, making seating arrangements, passing home work
Punishing a student, making seating arrangements, passing home work

30) @66 2GR 6g6N16a Y608 ReE & gETR @ AR geRd @I 9FFe @ed| FgRYe ANIRPIYER g 62 6a4E
RQ2ARAANNS ?

A) dra angl RRIRQ, 2169 99 6941, 0818l 99!

B) daq angl 9RIRS, 916q 28 60, G2 ALY sae!

C) deg arg RRING], 239R Suegl 9891, Q8 FIY AIY *89

D) g6 216Q @8 6091, 930IQ iegl 9del, Y2 IY AIY ede!
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 665N VITIQ YAFFRR I6GTE AR 699 ARG G248 AL, SIRIg 9'€ GAI?

A) YRRRIQ
B) Qo Qwiq
C) ga Gmie
D) ae aRIa

32) ‘aqiaig’ 9R6a 6% QA6 ML ?

A) 9

B) @&
C) aal
D) @13

33) 66lam JUQ QI QT — 90I6R 68IRR @ el da@?

A) Jcaay
B) Qsa@4
C) qa

D) aiquay

34) ‘29’ dea @UQIGIZERRIS &0 I8 |

A) Qg
B) 2g®
C) e
D) 9i8®

35) REEII8 IR 69% QAATE F5Q G4 Q1 2CUITPY GRIRAI?
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A) &iQ
B) 2@
C)&

D) ag

36) R69)1D FRIQ 6RRT IR GBS F8?

A) ad
B) ai@
C) @Qg
D) Qiqy

37) ‘90919’ 2026 g IR6Q 60 AIg LYe ?

A) 9
B) 96
C)%

D) @9t

38) ‘QIR4l 2’ QR 6w TARG |

A) B8
B) @@
C) e
D) 2isaia

39) ‘Qal gidiar’ adi]g QP 9 QF FQUd [Q |

A) Zrd gidql
B) dam QL
C) 2asl 60199
D) 2@ aaid
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40) QIR geIR A°qQ @€l @RI ?

A) a9
B) @
C) ae
D) aga

41) ‘s7ade’ aea SANSITCIRIR g qig |

A) gigée
B) &<
C) 98¢

D) CIRDR

42) 6163 990 IR 96 2 9a° AR 2 AANR 626/ GIg '€ GRIAN?

A) QQaq

B) 6dlGi@ 9@
C) eaigIge 41
D) 601G a1

43) ‘eug’ adea ‘A’ goia AelIRgSl e8] QI |

A) 8898
B) alaca
C) owaa
D) qe9@

44) 'Q2Q1 GLY 9IRA6S F6M |' 4OI6R B TGT 621 FRQ AN QRAX?

A) 2010 QIR
B) easie @Ie
C) e@gye QIp
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D) q&1e Q@I QIe

45) ‘6olsnia’ 98a AANLEAUSR I IR |

A) 69IRIRIQ 9
B) @8

C) auga

D) deele
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) If 3x - 5 =2x -5, thenx =

A) 0
B) 1
C)?2
D)3

46) 9@ 3x -5 =2x -5, 6089 X =

A) 0
B) 1
C)2
D)3

47) What is the circumradius of the right angled triangle whose base and height are 7 cm and 24 cm
respectively?

A) 14 cm
B) 12.5cm
C)15cm
D) 15.5cm

47) @ areRIgN SQea S0 6a66 629 QIR §F I aRel Kaliaen 7 6af e 24 6f ?

A) 14 6ead
B) 12.5 ¢ad
C) 15 sad
D) 15.5 ¢ad

48) What is the least number, which leaves a remainder 4 when divided by 6 and leaves a remainder
5 when divided by 77

A) 40
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B) 42
C) 45
D) 47

48) 6 APY AHMIT 6a<l, QITIQ 6 22 AIa FEM aIceas 4 ase NQ° 7 QoI I PEM QIacsa 5 asa ?

A) 40
B) 42
C) 45
D) 47

49) The difference between the compound interest and the simple interest earned in 2 years for an
amount of 2 10,000 invested at a certain rate of interest is ¥ 225. What is the rate of interest?

A) 10%
B) 15%
C) 20%
D) 25%

49) e 6da g aiesa T 10,000, 2 od el Fead 62in W86a 7dal 0898 Qo 6 AaR Qi FrIER alday cead T 225 | so6e
QA 210 6REE ?

A) 10%
B) 15%
C) 20%
D) 25%

50) The ordered pair satisfying the equation 2x -y =2 is

o0 W >
S S e
A~
= NN -
It e

50) 2x - y = 2 aaieagq a0f @diadel aRIfe QI cead
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51) What is the area of the scalene triangle whose sides are 7 cm, 8 cm and 9 cm respectively?

A) 1275 sq.cm
B) 165 sq.cm
C) 185 sq.cm
D) 85 sg.cm

51) 4@ 90912 S9Fa TR 6960 629 AIPIR AgEe vaIgen 7 6af, 8 saf e 9 6afi ?

A) 125 od sad
B) 165 a4l sad
C) 185 adi saf
D) 8V5 ad ead

52) What least number must be subtracted from 1,936 so that the remaining number when divided
by 9, 10 and 15, leaves a remainder 7 in each case?

A) 32
B) 53
C) 46
D) 39

52) 1,936 Q cadl MAY AHIG 6TERI zivaie, UL glal 6QALQ PRI zeda e 9, 10 v 15 Qal 398 FAUCEM
geoine algead 7 QR ?

A) 32
B) 53
C) 46
D) 39

53) A washing machine with a marked price of ¥ 15,000 is on offer at a discount of 5%. What is the
selling price of the washing machine?
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A) 14,000
B) ¥ 14,250
C)% 14,500
D) % 14,750

53) v gdaende ade o T 15,000, aie agse 5% dede 20q 082 | 6669 GAFEATRR F80 NI EREC 699 7

A) % 14,000
B) ¥ 14,250
C) % 14,500
D) 14,750

54) The first two numbers are more than the third number by 30% and 60% respectively. What is the
ratio of the first two numbers?

A) 13:15
B) 13:16
C) 14:15
D) 15:16

54) gan @ad el go1a raniolq Qaiass 30% e 60% 2aR | 6669 gad Qad TR BFAS 6966 629 ?

A) 13:15
B) 13:16
C) 14:15
D) 15:16

55) The representation of the set {x:x is a letter in the word 'PAPER' } in roster form is

A) {P.A,P.E,R}
B) {P.A.E,R}
C){ALE,R}

D) (P,A,E,R)

55) sae {X:x s2ad 'PAPER' gasa 8ql 14 280} @ 209105 6a1aq Td6ex 6208

A) {P,A,P.E.R}
B) {P,A,E,R}
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C){AER}
D) (P,AE.R)

56) What is the least number that should be added to 6,850 to make it a perfect square?

A) 29
B) 30
C) 32
D) 39

56) 1@ gd od @del alel 6,850 ca 67¢ MAY QRIS § caic @IS 2RSS ?

A) 29
B) 30
C) 32
D) 39

57) If the distance between the centres of 2 circles of radius of 3 cm and 5 cm is 18 cm, then what
would be the length of the tranverse common tangent to the circles?

A) 4V65 cm
B) 2V65 cm
C) 4V60 cm
D) 5V12 cm

57) 3 6afi ve 5 63 Quiais 588 26 Qo 6798w auca 2061 9618 638 9, 6667 REYLRR AIRE SITIRR AR 6REE 629 7

A) 465 sad
B) 265 saf
C) 4V60 68
D) 5V12 6

58) A bag contains an amount of ¥ 864 in the form of Z1, 50 paise and 10 paise coins in the ratio
4:5:7. The number of 50 paise coins present in the bag is

A) 480
B) 600
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C) 840
D) 960

58) e qugsa ageia T 864, X 1, 50 aeal e 10 aeal ol aeiesa 4: 5: 7 2qaiesa 088 1 606 @uigea &I 50 agal
Qe Y c2ag

A) 480
B) 600
C) 840
D) 960

59) If two sets X and Y contains 4 and 5 elements respectively, then the minimum number of
elementsin XU Y is

A) 4
B) 5
C)8
D)9

59) a& 9ad 6as X ¥e° Y gaiqse 4 ve 5 aaieie dieg @68, 66 X U Y 60 4606 G QQIQIRgFe 6268

A) 4
B) 5
C)8
D) 9

60) Square of a positive number added to twice the number results in 255. Which is the number?

A) 12
B) 14
C) 15
D) 17

60) 9@ RN AR @Gi@ Q° 69€ Q°HIQ QRAQG AR I8l FIEM FRITR 255 629 | 628 PHIT 6066 ?

A) 12
B) 14
C) 15
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D) 17

Section 7 - Paperll-Social Science

No. of Questions: 15

61) What is "El Nino" with respect to the climate pattern on the surface of the Earth?

A) A volcanic eruption

B) A warm ocean current

C) A sea storm

D) Another name of typhoon

61) aidiaie geieg QR gae gase "El Nino" @ 218 «’a

A) @ 2I6gadd aeead

B) we ag A¢91 gQI@
C) @ Agae el

D) glagea 2o v e

62) Select the CORRECT order of the layers of the Earth - from outside to inside.

A) Crust , core, mantle
B) Crust, mantle, core
C) Mantle, core, crust
D) Core, crust, mantle

62) giaa gaﬂ@@@ Qb 90q Qlgg- QIiq §ea 2w

A) 9QR. 691, FINIR
B) 9. AI9Iq, 6119
C) aigia, 6219, 9@
D) 6Qia, 9@, AIQIR

63) From which country was the 'ldea of Concurrent list' in the Indian Constitution borrowed from?

A) Ireland
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B) Canada
C) Australia
D) Japan

63) fIee1a AL ‘Afe GIRRIR 010’ 694 6] ASIAIRER ?

A) 2iogig
B) qigiel

C) zcamal
D) @IaIg

64) Which among the following options is known as 'Old Stone Age' that is the prehistoric period in
the early development of human beings?

A) Chalcolithic Age
B) Mesolithic Age
C) Palaeolithic Age
D) Neolithic Age

64) FIRYS FREYEFP FRIQ 69T ‘QAISR JIQ YO’ AR FEIGEI, I AR FIAR IR YD AP
266 7

A) oRERINAR Yo
B) sn6aimeiq 9@
C) aiercaneq 9ol
D) S8R g4

65) The term Zaid which refers to cropping season is mainly used in

A) Saudi Arabia
B) Egypt

C) India

D) Iran

B65) siee a8 AR TR (9&) agg 9uI, AIPId gove IZ LIFER ege 23
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A) Q191 ziee
B) a&ag

C) auae
D) i@

66) Which layer of the Earth is made up of liquid metals including iron, nickel and sulphur?

A) Outer Core
B) Mantle

C) Crust

D) Inner Core

66) g8e1a 6o 206 sale, Heam I&° Goe Ad6 CaR MIgER 606 ?

A) QY6
B) claiq

C) gex
D) aigs6eiQ

67) The Comptroller and Auditor General of India audits the accounts of

A) Centre

B) States

C) Centre and States

D) Centre, States and the Union Territories

67) @spine 99 B89 69600In AT AdY IR URIGFS AT 263

A) 6929
B) asig@aa
C) seg o anig@@R

D) 692, AIY I 6QLdIde roea

68) What does Article 19 in the Constitution of India state?
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A) The operation of the legal system that promotes justice, on basis of equal opportunity
B) No child below the age of fourteen years shall be employed to work in any factory

C) Untouchability is abolished and its practice in any form is forbidden

D) Protection of certain rights regarding freedom of speech

68) eiaea QAR MRl @ ¢ RILIF @il ?

A) RN MYl QIdyIQl QIR AR Yedlol RIAWGH, YIdg sglaide
B)

C)

0ReQ @0 2Fa dRIg° 6X16T & FIASIFIER AT FAQ AR FEAUTE Aql | AR
2gaiel a2 9e* A 63168 JRI0Q QTR TS

D) qiq arieel anese GEQ Zueiea gas!

69) The imaginary lines of longitude that run around the globe are divided into how many degrees?

A) 360 degrees
B) 380 degrees
C) 179 degrees
D) 90 degrees

69) 2dnie 289! 604 IRl Y JAUCS QDA FIRl EREE FFIER YOS ?

A) N0 &gl
B) Mro &g
C) es¢ aglt
D) ¢o &gt

70) What was the name of the first mass movement started by Mahatma Gandhi?

A) Champaran Movement

B) Non Cooperation Movement
C) Quit India Movement

D) Salt Movement

70) el ¢Ifle QI AN 6TIRNAR J2UT @@ AUERINTQ FIEl @& ami?

A) QHlQe ZleLIRe
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B) e1ae6gigl 2Ising
C) QIee 812 2160198
D) qeg QovIg®

71) In the history of medieval India, Prince Khurram was the original name of which Mughal emperor?

A) Aurangzeb
B) Jehangir
C) Humayun
D) Shah Jahan

71) FRIGAIG QRS RELAER TG YA 689 6AIGR ATITFR T K11 2l 2

A) BereaQ
B) qleea
C) gauge
D) qlg 191

72) The Declaration on Global Climate Change and Biological Diversity, 1992 endorsed

A) Global Forest Principles only

B) Global Forest Principles only and adopted Agenda 21

C) Global Marine Life Principles and adopted Agenda 21
D) Global Marine life Principles only

72) 52010 ¥a9Ig 96e0r 1e* 666 S8u6!, 1992 ca8dIRIag AgEAIRe SQITR

A) 6297 §92Q14 TR 416
B) 6997 S42610 @R 16 I 6Fg 9¢ g g6 FIER

C) QYL AYAR F19R Q16 96 96PN 9 ¢ § Fd AR
D) see@ Gqaaia AYLR 9190 @10

73) Which of the following options are TRUE about the members of the Rajya Sabha?

A) The members should be at least 35 years old
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B) President of India nominates 14 members to the Rajya Sabha
C) President of India nominates 12 members to the Rajya Sabha
D) Nominated members are not entitled to vote for Presidential election

73) $9R¢0 S08989 NUQ 6R6E QIRIANAQ AQAIAIRET FTAEA TGY 26T ?

A) QAAIET AGGAEA NS Q8 6261 AHP

B) VAR QI%U@ QUTIANIER RY @6l A0 16X Qa8

C) 91969 Q1306 QIFIANIER €9 RE AQAF ACAIFIE 63

D) F6RIR1e AaAIER QIFAE SRR TIK SIS 6ATNQ ANRIA AIAIB AR

74) The Arctic and Antarctic Circles are the imaginary lines of latitude that lie at

A) 0 degrees N and 0 degrees S of the Equator respectively

B) 90 degrees N and 90 degrees S of the Equator respectively

C) 66.5 degrees N and 66.5 degrees S of the Equator respectively
D) 23.5 degrees N and 23.5 degrees S of the Equator respectively

74) 2@6e 9 APSIRER QQGl@G? 62088 zsreaq eaql sas a2l Yok 022l

A) gaucadia aaiass o @g1 N e o &g S
B) gausasia gaigen ¢o @g1 N aer o G118
C) geusasia gaigen 99.8 891 N wer 99,8 891 S

D) enusadia ceigen om.8 &gt N e om.8 &1 S

75) Which movement demanded 2/3rd of the produce from land for themselves and 1/3rd for the
landlord?

A) Eka Movement

B) Champaran Movement
C) Salt Movement

D) Tebhaga Movement

75) cad 2isaipnea @8 QISR 9/ aiel §9 Al 99 ¢ /N ag KA el QIS aiadial ?

A) \9) 2I60IRe
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B) o#Q@ ziceiee

C) aee ARYIQe
D) DTS | | [ AN
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following statement is applicable for the given reaction? Given: Zn + CuSQOg4
— ZnS04 + Cu

A) Displacement reaction and Zinc as oxidizing agent

B) Displacement reaction and Copper as reducing agent

C) Displacement reaction and Zinc as reducing agent

D) Double displacement reaction and Zinc as reducing agent

76) g9Q 9689 aie foage YR8 arig 6aeds gget ? J9R : Zn + CuS0Os — ZnSO4 + Cu

A) Qo QIREQ ARG JETal 9e° B
B) 3109 aiesa 20A0E A e ol
C) IcIee QIQ6R 2A0a0d goai 9Q° O

D) Geiee QIeea § 20908 9oGa Ie° OF,

77) Which among the following state of matter is present in CFL lamps?

A) Solid
B) Liquid
C) Gas

D) Plasma

m QRYe 2R F1rIQ 6ReE TR (CFL) M6 Rage & ?

A) 802
B) ee®
C) sui@
D) ag

78) Which of the following is a scalar quantity?
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A) Velocity

B) Speed

C) Force

D) Displacement

Download Tech Of World App

78) QORYE CRIQ 629G IR 2ad AR 26T ?

A) a6l
B) 6aa
C) oa

D) Gaiae

79) Bacterial cell wall is made up of

A) Cellulose

B) Murein

C) protein

D) Phospholipids

79) QIglg sxia gioia dea GaIa 6LINeIN

A) 6agenIq

B) qseq

C) 6gicq

D) arasciadeq

80) Which of the following plants have reticulate type of venation?

A) Neem
B) Banana
C) Grass
D) Wheat

80) 56qi8 2bagle g 6900 6Q FINAIY geee AR 25 ¢
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A) @2
B) @o@
C) @’
D) s

81) What is the change is oxidation number of KMnO4 when used as an oxidant in acidic medium?

A) Increase by 5
B) Reduces by 5
C) Reduces by 3
D) Increases by 3

81) agra aricsa agers alesa evege sosa KMnO4 o 2§sear eratisa @6 Q@R o9 ?

A) 8 98 29
B) 8 21229
C) 21223
D) N Q& 29

82) What will be the correct arrangement of increasing vapour pressure over the given liquid
surfaces?

A) Diethyl ether > Ethanol > Water
B) Water > Ethanol > Diethyl ether
C) Ethanol > Diethyl ether > Water
D) Diethyl ether > Water > Ethanol

82) g9 09° g9 AU6Q AIFCING §F QASI AIR 6966 A0R QUSRI 629 ?

A) QIR2I0R AR > QAR > GR

B) &@ > QRIen > GI2Ion KA
C) QAR > QIR2IAR K2 > FF
D) @I0210R K29 > 39 > Q2R

83) Momentum is a vector quantity and it is the product of its mass and
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A) gravity

B) acceleration
C) velocity

D) torque

83) Q°6Q0 62A8 IR 6QQR YQCNIE YQ° Y9 H9Q @2R IQ° YLIQ QIR 26T

A) JRAIRIE
B) qasl

C) adsaq

D) oa @I 21ge

84) The procedure in which amniotic fluid is removed from the uterus for testing or treatment is called

A) Widal test

B) Aminocentesis
C) Pleural fluid test
D) Syphilis test

84) aeial §al 68 aiel asieag AINFEER NG 120 FAIINLS a8dg gaian |

A) Goim 669

B) ai0tesasadq
C) qoia gae 669
D) 3@ 699

85) Who among the following concluded that All cells arise from the pre-existing cells?

A) Robert Hooke

B) Jacob Schleiden
C) Theodor Schwann
D) Rudolf Virchow
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85) dgdge auq &4 daie 65ReS 64 ANY CRITYER 9IQ FNAIR QI 6RINYEIQ QY gﬂ@ ?

A) 68196 29

B) Qsaie daiceq
C) a6eq agqie
D) q6@1Q Sasel

86) Which one of the following statements is TRUE with reference to Monocots?

A) Monocot leaves have reticulate venation
B) Monocot leaves have parallel venation
C) Monocot plants have tap root system

D) Embryo bears two cotyledons

g6) SFIERIERITY AARER FIAYR FIRIQ 6N FRNT AGY 26T ?

A) 6CI6RIERIC IEYERER SRR FATFIA AT
B) 6ricricnic 00g@eca Adaisa Jaidaia 28

C) saicricric adeqdaca aidde e1ea 28
D) Q6 @a¢ Q1998 QS QeI

87) What will be the volume occupied by Oz gas if 8 g of it is added to 16 g of it already present and
occupying a volume of 150 L under similar temperature and pressure?

A) 165 L
B) 172 L
C)225L
D) 128 L

87) Oz a2 Qlou 9¢iR c21qell 85116 6266 629 & Yia 8 giet 16 gia a@6 6218 cRIeIGd ¥e° Adle clarIgl 9 aasa 150 L
& QI8 R 968 ?

A) 165 L
B) 172 L
C)225L
D) 128 L
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88) A rifle fires a bullet of mass 25 g with a velocity 1600 m/s. The man holding it can exert a
maximum force of 160 N on the gun. How many bullets can he fire per second at the most?

A) 2
B) 3
C) 4
D)5

88) Y@ Q9@ 25 g BRRQ 9@ giq 1600 m/s JQsedsq oI | NaIg Qe Q18 Q9@ QU6 160 N @
AARIP AR FEAIT FRAIRER | 626948 FO 66015 ga FoI AR ?

A)2
B) 3

C)a
D)5

89) The portion of the DNA double helix that provides structural support to the molecule is called

A) Phosphate backbone

B) Hydrogen bonding

C) Complementary base pairing rule
D) Helicase

89) NQY QAR 6LRFa 2ral KI2l BYQ 0FRS ALY 6RAIGIN GIIQ gelan |

A) XA uiesalR

B) ciesgises od

C) egseroiat 6aq saziee Qm

D) coqcas

90) Which of the following cell organelle is responsible for the protection of cells against hydrogen
peroxide?

A) Nucleus



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

